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A meteorite impact on Earth may have contributed to the mass extinction of species
at the end of the Cretaceous period.

Answer choices

(1) Scientists had believed for centuries that meteorite activity influenced
evolution on Earth.

(2) The site of the large meteorite impact at the end of the Cretaceous period
was identified in 1990.

(3) There have also been large meteorite impacts on the surface of the Moon,
leaving craters like Tycho.

(4) An iridium-enriched sediment layer and a large impact crater in the
Yucatan provide evidence that a large meteorite struck Earth about 65 million
years ago.

(5) Large meteorite impacts, such as one at the end of the Cretaceous period,
can seriously affect climate, ecological niches, plants, and animals.

(6) Meteorite impacts can be advantageous for some species, which thrive,
and disastrous for other species, which become extinct.
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Look at the four letters (A, B, C, and D) that indicate where the following
sentence could be added to the passage in paragraph 6.

This is the criterion emphasized by Darwin’s theory of evolution by
natural selection.

Where would the sentence best fit?

Impacts by meteorites represent one mechanism that could cause global
catastrophes and seriously influence the evolution of life all over the planet.

A) According to some estimates, the majority of all extinctions of species may
be due to such impacts.

B) Such a perspective fundamentally changes our view of biological evolution.

C) The standard criterion for the survival of a species is its success in
competing with other species and adapting to slowly changing environments.

D) Yet an equally important criterion is the ability of a species to survive
random global ecological catastrophes due to impacts.

Choose the place where the sentence fits best.

1. Option A
2. Option B
3. Option C
4. Option D
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‘The word IR in the passage is closest in
meaning to

O fascinating
O far-reaching
O necessary

O temporary

Click on an oval to select your answer. To choose

making has been found in Ni

igeria, Ghana, and M

This technological shift caused changes in the
complexity of African societies. Iron represented power. In West Africa
the blacksmith who made tools and weapons had an important place
in society, often with special religious powers and functions. Iron hoes,
which made the land more productive, and iron weapons, which made
the warrior more powerful, had symbolic meaning in a number of

's. Those who knew the secrets of making iron
al and ‘sometimes political power.

Unlike in the Americas, where metallurgy was a very late and

limited development, Africans had iron from a relatively early date,

developing ingenious furnaces to produce the high heat needed for

production and to control the amount of air that reached the carbon

and iron ore necessary for making iron. Much of Africa moved right

into the Iron Age taking the basic technology and adapting it to local
d resources.

The diffusion of agncul!ure and later of iron was accompanied by
ave carried

These people probably orginated in easten Nigeria, Their mgration

may have been set in motion by an increase in population caused by a

movement of peoples fleeing the desiccation, or drying up, of the

Sahara. They spoke a language, proto-Bantu ("bantu" means "the

people", which i the paren tongu of s arge umbr of Bartu

poken throughout yand how
utinto central frica rema
mystery, but archaeologlsts believe that ther iron weapnns lowed

ml /e same time that ron making was react rope. Evidence of ron.

them to conguer their pponents, who still used
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According to paragraph 1, why do researchers doubt
that agriculture developed independently in Africa?

O African lakes and rivers already provided
enough food for people to survive without
agriculture.

O The earliest examples of cultivated plants.
discovered in Afica are native to Asia.

O Africa's native plants are very difficult to
domesticate.

O  African communities were not large enough to
support agriculture.

Paragraph 1 is marked with an arrow ( = ).

Click on an oval to select your answer. To choose a
different answer, click on a different oval.

Begin
Agriculture, Iron, and the Bantu Peoples

 There s evidence of agriculture in Africa prior to 3000 B.C. It may

but believe that the
spread of agriculture and ron throughout Afrca linked it to the major
centers of the Near East and Mediterranean world. The drying up of
what is now the Sahara desert had pushed many peoples to the south
into sub-Saharan Africa. These peoples settled at first in scattered
hunting-and-gathering bands, although in some places near lakes and
rivers, people who fished, with a more secure food supply, lived in
larger population concentrations. Agriculture seems to have reached
these people from the Near East, since the first domesticated crops
were millets and sorghums whose origins are not African but West
Asian. Once the idea of planting diffused, Africans began to develop
their own crops, such as certain varieties of rice, and they
demonstrated a continued receptiveness to new imports. The
proposed areas of the domestication of African crops lie in a band that
extends from Ethiopia across southern Sudan to West Africa.
Subsequently, other crops, such as bananas, were introduced from
Southeast Asia.

Livestock also came from outside Africa. Cattle were introduced
from Asia, as probably were domestic sheep and goats. Horses were
apparently introduced by the Hyksos invaders of Egypt (1780-1560
B.C.) and then spread across the Sudan to West Africa. Rock paintings
in the Sahara indicate that horses and chariots were used to traverse
the desert and that by 300-200 B.C., there were trade routes across
the Sahara. Horses were adopted by peoples of the West African
savannah, and later their powerful cavalry forces allowed them to
carve out large empires. Finally, the camel was introduced around the
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What can be inferred from paragraph 3 about liquid
‘water on Mars?

O Lakes on early Mars were likely as large as.

some oceans on Earth's surface today.

O Ifthereis any liquid water at all on Mars'

surface today, its quantity is much smaller than
the amount that likely existed there in the past.

time as the northern volcanic plains formed.

- speculate that Mars may joyed an
extended early period during which rivers, lakes, and perhaps even
oceans adorned its surface. A 2003 Mars Global Surveyor image shows
what mission specialists think may be a delta—a fan-shaped network
of channels and sediments where a river once flowed into a larger
body of water, in this case a lake filing a crater in the southern
highlands. Other researchers go even further, suggesting that the data
provide evidence for large open expanses of water on the early
Martian surface. A computer-generated view of the Martian north
polar region shows the extent of what may have been an ancient

[} Il-scale gullies on Mars pr g

evidence that liquid water existed on Mars in
the recent past.

O The small amount of water vapor in the Martian

atmosphere suggests that there has never
been liquid water on Mars.

Paragraph 3 is marked with an arrow ( = ).

Click on an oval to select your answer. To choose a

clickon

much of the northern lowlands. The Hellas Basin,
which measures some 3,000 kilometers across and has a floor that lies
nearly 9 kilometers below the basin's rim, is another candidate for an
ancient Martian sea.

These ideas remain controversial. Proponents point to features
such as the terraced "beaches" shown in one image, which could
conceivably have been left behind as a lake or ocean evaporated and

receded. But detracts tain that the te d
also have been created by geological activity, perhaps related to the
geologic forces that depressed the Northern Hemisphere far below
the level of the south, in which case they have nothing whatever to do
with Martian water. Furthermore, Mars Global Surveyor data released
in 2003 seem to indicate that the Martian surface contains too few

carbonate rock & I 1 s of carbon and
oxygen—that should have been formed in abundance in an ancient
ocean. Their absence supports the picture of a cold, dry Mars that

never experienced the extended mild period required to form lakes
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Paragraph 3 suggests which of the following about
the people of Latium?

O Their economy was based on trade relations

with other settlements.

O They held different values than the people of

Rome.

O Agriculture played a significant role in their

Society.

O They possessed unusual knowledge of animal

instincts.

Paragraph 3 is marked with an arrow ( = ).

Click on an oval to select your answer. To choose a

different answer, click on a different oval.

Greek was a sailor at heart; the Roman, a landsman.

= Certainly, in trying to explain the Roman phenomenon, one would
have to place great emphasis on this almost animal instinct for the
territorial imperative. Roman priorities lay in the organization,
exploitation, and defense of their territory. In all probability it was the
fertile plain of Latium, where the Latins who founded Rome
originated, that created the habits and skills of landed settlement,
landed property, landed economy, landed administration, and a land-
based society. From this arose the Roman genius for military
organization and orderly government. In turn, a deep attachment to
the land, and to the stability which rural ife engenders, fostered the
Roman virtues: gravitas, a sense of responsibility, peitas, a sense of
devotion to family and country, and iustitia, a sense of the natural
order.

Modern attitudes to Roman civilization range from the infinitely
impressed to the thoroughly disgusted. As always, there are the power
worshippers, especially among historians, who are predisposed to
admire whatever is strong, who feel more attracted to the might of
Rome than to the subtlety of Greece. At the same time, there is a solid
body of opinion that dislikes Rome. For many, Rome is at best the
imitator and the continuator of Greece on a larger scale. Greek
civilization had quality; Rome, mere quantity. Greece was original;
Rome, derivative. Greece had style; Rome had money. Greece was the
inventor; Rome, the research and development division. Such indeed
was the opinion of some of the more intellectual Romans. "Had the
(Greeks held novelty in such disdain as we," asked Horace in his
Epistles, “what work of ancient date would now exist?"
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Which of the sentences below best expresses the
essential information in the highlighted sentence in
the passage? Incorrect choices change the meaning
in important ways or leave out essential information.

While American iron makers developed the
latest furnaces, African iron makers continued
using earlier techniques.

Africans produced iron much earlier than
Americans, inventing technologically
sophisticated heating systems.

Iron making developed earlier in Africa than in
the Americas because of the ready availability
of carbon and iron ore.

Both Africa and the Americas developed the
capacity for making iron early, but African
metallurgy developed at a slower rate.

Click on an oval to select your answer. To choose a

different answer, click on a different oval.

Complextty of n S0 fon representea power. In Wes
the blacksmith who made tools and weapons had an important place
in society, often with special religious powers and functions. Iron hoes,
which made the land more productive, and iron weapons, which made
the warrior more powerful, had symbolic meaning in a number of

an societies. Those who knew the secrets of makiny
gained ritual and sometimes political power.

Unlike in the Americas, where metallurgy was a very late and}

into the Iron Age, taking the basic technology and adapting it to local
conditions and resources.

The diffusion of agriculture and later of iron was accompanied by

a great movement of people who may have carried these innovations.
These people probably originated in eastern Nigeria. Their migration
may have been set in motion by an increase in population caused by a
movement of peoples fleeing the desiccation, or drying up, of the
Sahara. They spoke a language, proto-Bantu (*bantu" means “the
people"), which s the parent tongue of a large number of Bantu
languages still spoken throughout sub-Saharan Africa. Why and how
these people spread out into central and southern Africa remains a
mystery, but believe that their iron llowed
them to conquer their hunting-gathering opponents, who still used
stone implements. Stil, the process is uncertain, and peaceful

ig simply rapid ic growth-may have also caused
the Bantu explosion.
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m:ampex\ OT ATrICan societies. Iron represented Power. 1 West

the blacksmith who made tools and weapons had an important place

Look at the four squares [l that indicate in society, often with special religious powers and functions. Iron hoes,

where the following sentence can be added to which made the land more productive, and iron weapons, which made
the passage. the warrior more powerful, had symbolic meaning in a number of

| West African societies. Those who knew the secrets of making iron
These people had a significant linguistic gained ritual and sometimes political power.

impact on the continent as well. Unlike in the Americas, where metallurgy was a very late and

limited development, Africans had iron from a relatively early date,
developing ingenious furnaces to produce the high heat needed for
production and to control the amount of air that reached the carbon
and iron ore necessary for making iron. Much of Africa moved right
into the Iron Age, taking the basic technology and adapting it to local
conditions and resources.

Where would the sentence best fit?

The diffusion of agriculture and later of iron was accompanied by
a great movement of people who may have carried these innovations.
These people probably originated in eastern Nigeria. Their
migration may have been set in motion by an increase in population
caused by a movement of peoples fleeing the desiccation, or drying
up, of the Sahara. [l] They spoke a language, proto-Bantu ("bantu”
means "the people"), which s the parent tongue of a large number of
Bantu languages still spoken throughout sub-Saharan Africa. Why and
how these people spread out into central and southern Africa remains

Click on a square [l ] o add the sentence a mystery, but archaeologists believe that their iron weapons allowed
o the passage. To selecta different location, them to conguer their hunting-gathering opponents, who still used
e e e stone implements. [l still, the process is uncertain, and peaceful

i simply raj i h-may have also caused

the Bantu explosion. [l

o]l ol 8)Libll Jlguw —A
dslnoll 98 uo gJl iy ol ol delall gim Wluy
In the fourth paragraph, what do the words "that period" refer to?
the ninth century
the seventeenth century

the nineteenth century

waaloll Jlgw -9
69 LAall ol (e i Shluall o Joa P HbAs elule Culg dshell jaals éon eaic jgAun

Aslnoll

This is a multiple choice multiple selection question. When you have chosen the maximum number of selections, the
remaining options will be disabled. However, you may de-select a previous selection to change your answer.
Directions: An introductory sentence for a brief summary of the passage is provided below. Complete the summary
by selecting the three answer choices that express the most important ideas in the passage. Some sentences do not
belong in the summary because they express ideas that are not presented in the passage or are minor ideas in the
passage. This question is worth 2 points. Remember to select THREE answer choices. To review the passage, select
View Text.

Agriculture and iron working probably spread to African from neighboring regions.

Click on 3 answers.

[J Once Africans developed their own native crops, they no longer borrowed from other regions.

O

The harshness of the African climate meant that agriculture could not develop until after the
introduction of iron tools.

[ The use of livestock improved transportation and trade and allowed for new forms of political
control.

[ As the Sahara expanded, the camel gained in importance, eventually coming to have religious
significance.

[J The spread of iron working had far-reaching effects on social, economic, and political
organization in Africa.

[J Today's B; peaking peoples are from a ically advanced people who
spread throughout Africa.
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Some sentences do not belong in the
summary because they express ideas
that are not presented in the passage
or are minor ideas in the passage.
This question is worth 2 points.

Write your answer choices in the spaces
where they belong. You can either write
the letter of your answer choice or you
can copy the sentence.

An expedition to the Mediterranean answered
some long-standing questions about the

ocean’s history.
L]




6cl)oll pud Wwla LA

6clyoll o9 LA LA

dogloollgle Jonallsclallaliwl -
Oliie @ol4 Lol Lo (g dslndl] &pw Ao g Scanning duidi oAl (j400
doholl 5.8 domoll i)l wlol4lg dayliioll wlol 4l gl oAl &o anllalall) Jungs

o)Al gl @ilendl gl ducyall laall gl ol 6,401 Jgngl) jaidl omd il -
8puall 8560l 1639 aualLJl Clpaoll 98 1hod gl doall 163 (uasyg dol4 sdgll 6100l [ain
waddl (e dole 6346 (945 Jglai cloll gam JUa (rog .ol

uualidlg edsidl alduwl - -

ilon]l g dlol4 8jually gJoll 8500l 163) dolsl 81401 Jgngll €ALAT b Gguuin
a2 o)l Wlhog juy wbjlo g il sde jain Ylod (At (Wlgall 58U (o yus gJgll
Loy g

:6.cl) 8l o8 59 ol
daya loude &l Galling ulayall aglais aly wanlg daya JIguws JA gde ygaun Lo ool laal (59
banlg ayla] (o yiAl Loy Ul sl dals &0 gl (s Legde a0 dliawlg 6aalg

6.£l)8J1 ound) a5l
LoJ 8Ll (o il ity Lo HAaslg jLiall ga g el 6]l dd bl €lgil Gy elile -
gl el el @il Jouwl Ggan JIgull g @y
Glodallg anl JAuiu alall Jungs dacluia ahbially Jgudl 6.8 &l Glodall g 4 -
Jlaial adyall
JAidg =i wlgal gl ja WGy jgainlo e
wlon gl Jldl gl clowl jgain Loyls e
wAd) (=0 cgul e Jai gl clowull g udls tlods (ygAin Lodls proper nouns JI - e
(Ulho - dijro -
Juisll 58 cibglllne s sde ag=ii Glire Wdgos belyall gde il -
adlle a Lo gl s Waclud Glire whliall g8 aoyeil alon ) auil €
Sl Lglai 2659 6.0l 5.8 &lndll oo aclu line j1is domalal wlols hoal -o




&Lodawll rou.uS

Job gl opund whalho digall dblooll o Guegi e §)be Ygau9 LB 58 o8 Gl go
B oI T daic Kgaan Olodg spalao J4) dliul 1 Jazes @ilds 0 gl P ¢ Lo laio 6aslg 4
0g4un 134 dliwl 0 o @islao U4 e eldasig §5les P Lupss loio 6aslg b Jgls wlislao
86185 0V gl €1 A 918 romglad wlude 1 €1 gJI TA (o Lo dliundl €900

PN

Eloiwll p.l.us
v - - "
JagiJl 59 0
8ol

Vi Els 46,85 oV €|

(BN ...

Uegd ailayo
aigall &aldoll (o

o138 €990 98 9un8lid J9ia gl palaog Gols s (i Lo (1945 (1400 Wlislaol &l
Jlga @J d=olall d\g Whgog udla (yua &slaoll (jgAT () A00g .Egpuio gl o 6alo bidlnio A ety
dsolallauiio (4o dord wll gl golall (Aaudl (e

9id-ﬂ|9-'i-0di-lil-_l@20l;)9b3pl‘\l_} Gy n6d anlg aaiis ygad Ao ulialaeld dunddlg
(€ 93230 G014 5 Jigano i Aiblis e j9.0 519 G945 (009 WAl o AL (518 (9
clidl Uo o Ulgan (e ol A pblaoll ¢ Ulgan )90 gl opilacllaie el aiiy sl €gig0 )
a8goll Juais glie jLisll

4l 610 Ao ¢y Log iy gigall dadoll Lo a2 yokain dlwll dono danllo 4

:Elodul] foand g8 &l Jlakl
& o daunall G4 166 anlg s JLisl (e o)lic gag 3amio (o jLisllaliwl
loiuwll w8 58 jgniioll gl ag s
Jba (o sl jliag dudeg aahba sl o il log jlaslaliwl e
(objects) lgo gl (words) vilol4 ) (matching) Juogi dliwl o




@bﬂﬁ Elosull ouud (5.8 &liawll lgil

Eloiawll round g8 &bl glgil

€lgil V @aic Gghyn

" | .
o< Jlga [ 0 Jlgan
suisoll Juolail @anll glaolell g4 all
[ o | ¢ |
s g v Jlgw v Jlguw
5801 gy bl wlsliiiwl Goinoll Ly
v
v Jlga
seliiollg sl
aliwll glgil
Eloiawll ound 59
e!,lJ‘
gl

b

(Gist Content Questions) WanJl gl dolsll 6540l J1gw -l

8pla0L) (main idea) dolll 8580l e Lol Yluas loiwll a2 Jgbl lgudl s pgaun Ll -
(main purpose) Lomio Wanll (< gl &ialaoll gl

(main idea) dalad) 5 SiY g

o What are the speakers mainly discussing?
o How the woman should prepare for the next game
o The woman’s responsibilities as team captain
o Things that happened while the woman was away
o The style of the new team uniforms

(main purpose) wizgl) J\su

e Why does the student go to see the coach?
o To see how the woman should prepare for the next game
o To find out the woman’s responsibilities as team captain
o To find out what had happened while the woman was away
o To discuss the style of the new team uniforms

(Detail Questions) Jumnlodl (e Jlguudl -
bpalaoll gl dislaoll 58 Wpas doglo (e Yl Gliie Jouwll g4y 400 ggidl g -

e Who is buying a new jacket for the team?
o The coach

The captain of the team

A former player

A group of basketball fans

o O O
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(Function Questions) usoll e Jlguudl -
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e What does the man mean when he says, “Family is very important?
o He hopes the woman'’s family is doing well
o He would like to meet the women’s family
o The woman should spend more time with her family
o The woman has a good reason for missing the practice

(Organization Questions) gginoll wuiyi e Jlgudl -
Uidhwggammuia)mum@umpwwowlmpmmmwﬁw L -
Salaoll 98 jlaall wuiy

e Why does the professor mention a smeared bit of paint in a doorway in
The Moonstone?
o To describe a mistake that Sergeant Cuff has made
o To describe how realistically the author describe the crime scene
o To exemplify a pattern repeated in many other detective stories
o Toillustrate the superior technique used by the police

(Inference Questions) wlkalidsuwl (e Jlgudl -0

e What does the professor imply when he says this?
(imall ghaiall (ha ¢ > pania La

o Sergeant Cuff is unlike the regular police in the Moonstone

o The author’s description of Sergeant Cuff is very realistic

o Sergeant Cuff learned to solve crimes by observing the regular
police

o Differences between Sergeant Cuff and Sherlock Holmes are hard
to describe

(Connecting Content Question);lﬁ_fﬂJl O ol e JIgudl 0

e Why is the woman surprised to learn that she has been chosen as the
new team captain?

She is not the best player on the team

Her teammates didn't tell her about the surprise

She doesn’t have many friends on the team

She has missed a lot of practice

(Attitude Questions) jecliiollg éuidl (e Jlguudl =V
gl 6ndoll 5.8 Ganioll g e s Lo -
e What attitude does the professor express when he says this:
Bl (o pduilal ganiia Uia

He is impressed by the novel’s originality

He is concerned that students may find the novel difficult to read
He is bored by the novel’s description of ordinary events

He is eager to write a books about a less familiar subject

O O O O
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The woman expresses her opinion of
the university’s plan. State her opinion
and explain the reasons she gives for
holding that opinion.

Preparation Time: 30 seconds

Response Time: 60 seconds

aJUJl domoll (gde JUo

Using the examples of the peanut bug
and the morpho butterfly, explain the
concept of revealing coloration.

asull domoll gde JUio

Using the points and examples from
the lecture, explain the two pricing
strategies described by the professor.

e
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Question: Summarize the points made in the
lecture, being sure to explain how they cast
doubt on specific points made in the reading
passage.

Television advertising directed toward
young children (aged two to five)
should not be allowed.

Use specific reasons and examples to support
your answer.
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